
DETAIL  A
 

976 Hartford Turnpike
Waterford, CT 06385 USA

(800)243−0533  Fax: (800)988−3363
www.jaypro.com

DATE: DRAWN BY:
12/18/2009

MODEL NUMBER: CHECKED BY:

PRODUCT NAME:

Moune T.

STG-46J

FOLDING MULTI-PURPOSE GOAL

WVB

REV:
-

CROSSBAR SWAGE ENDSTG-46-A21

CROSSBARSTG-46-B22

BASE PIPESTG-46-C23

WHEEL FRAME WELDMENTSTG-46-DJ24

UPPER REAR BRACE WELDMENTSTG-46-E25

LOWER REAR BRACESTG-46-F26

BRACE PLATE LOCKSTG-46-G27

SMALL ONE SIDED SNAP BUTTONHM290568

DESCRIPTIONPART #QTYITEM

70 KG WHEEL W/ GCR15 BEARINGSRW501129

5/16" x 1 1/2" SHOULDER SCREW 1/4"-20 x 7/16", SS  HS5199210

1/4"-20 SELF-LOCK ACRON NUT, SSHN12321011

1/4"-20 x 1 3/4" BUTTON HD CAP, SSHS5102412

1/4"-20 x 2" BUTTON HD CAP, SSHS5164213

1/4"-20 x 3/4" BUTTON HD CAP, SSHS5198214

1/4" FLAT WASHERHW20931415

5/16" FLAT WASHERHW5020416

DESCRIPTIONPART #QTYITEM

 

FINISH: ZINC PRIMER OR PLATED
 
NOTES: 
1) WHEEL AND BRACE TO BE PRE-ASSEMBLE. 
(AS SHOWN IN DETAIL A)
2) PRE-INSTALL SNAP BUTTON (ITEM 8) INTO 
SWAGED END OF PIPE.

OVERALL  DIMENSIONS

A

x3

2

8

1

2

8

1

8

3

8

15

11

13

11

15

6

157
14

5

11

12

3

11

12

10

16

16

9

1115

1829 mm
[6'-0"]

1219 mm
[4'-0"]

1219 mm
[4'-0"]

15

4 4




